


ciol: DEE7 J|BEA (S92 &8))
A - ZH - BRI(SH) - MIRAY - B o8y pE-T HimE=T

URRIFHED 40,029,006 17,119,981 22,909,025

= 24,278,341 8,898,000 15,380,341

< 15,750,665 8,221,981 7,508,684

Uxt2] BE(AEIET/-S) 38,342,092 16,128,867 22,213,425

= 24,278,341 8,898,000 15,380,341

= 14,063,951 7,230,867 6,833,084

nEENIBIEE 10,055,967 2,300,637 7,755,350

= 6,106,000 0 6,106,000

= 3,949,987 2,300,637 1,649,350

URRIFE L FHAHS DEX 1,505,000 1,005,000 500,000

308 XHXISHHISOI® 1,500,000 1,000,000 500,000

10 B2 SUITHSHI AR [ ErArIH 1,500,000 1,000,000 500,000

OXMAIQ €|X sHal0z X|RIAKY 1,500,000 1,000,000 500,000

T EIRT WHY KR (2INRFX) 600,000 0 600,000

308 XHXISHHISOIR 600,000 0 600,000

10 22 SUITHSI AR S ArIL 600,000 0 600,000

OXMe EIXT WHY X 600,000 0 600,000

EEEERENE 6,563,950 0 6,563,950

= 6,106,000 0 6,106,000

[ 457,950 0 457,950

308 XHXISHHISOIA 6,563,950 0 6,563,950

= 6,106,000 0 6,106,000

< 457,950 0 457,950

NP E N EES= 6,563,950 0 6,563,950

05222 XY Al 6,563,950 0 6,563,950

= 6,106,000 0 6,106,000

< 457,950 0 457,950

et a2 K 235,000 150,000 85,000

308 XHXISHHISOIR 235,000 150,000 85,000

01 AXISHZaBx2 235,000 150,000 85,000

O M2t A L XY 235,000 150,000 85,000

D= JIBES 29| 47,686 41,286 6,400

201 Ypr2 | 23,186 16,786 6,400

01 ArR2elt 23,186 16,786 6,400

OggsgH| 13,200 9,800 3,400

o=y 4,400 1,400 3,000

AloioA 2 Xl 6,656,795 3,581,795 3,075,000

CHEtUTI2IMIE 2 (2IEEXIR) 221,200 181,200 40,000

307 QI2+0|H 221,200 181,200 40,000

02 DIIBMAIAER 221,200 181,200 40,000
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SN AXRIRED
B2 UNjel M=/ =S)
ool Agols ¥ HeiseY (2l ®e)
2 - ZH - H(BH) - NRAY - BES Ofl &bk J| BN Hunsz
[ OUSEIRIdE 23 221,200 181,200 40,000
Qg FEHS F4I1Y 22N 3,035,000 0 3,085,000
308 XXICSHHISOIE 3,035,000 0 3,035,000
10 22U BB A AL 3,035,000 0 3,035,000
O FEHE S4I|Y 22N 3,035,000 0 3,035,000
IzURl X 15,407, 151 10,246,435 5,160,716
2 14,068,716 8,898,000 5,160,716
= 1,348,435 1,348,435 0
RoiAioEs 22 AR(XIR) 9,160,716 4,000,000 5,160,716
2 9,160,716 4,000,000 5,160,716
308 RXISHHISOIR 9,160,716 4,000,000 5,160,716
= 9,160,716 4,000,000 5,160,716
01 AAEHBLEES 9,160,716 4,000,000 5,160,716
OXMYBIYHE 2 9,160,716 4,000,000 5,160,716
2 9,160,716 4,000,000 5,160,716
NEES= RS TEFTpREINE 6,222,359 0 6,222,359
= 4,113,625 0 4,113,625
= 2,108,734 0 2,108,734
Ao FEUTE ARY(HE) 333,000 0 333,000
=2 122,000 0 122,000
= 211,000 0 211,000
308 RXISHHISOIR 333,000 0 333,000
=2 122,000 0 122,000
= 211,000 0 211,000
10 B 2SS B AR ASAISH] 333,000 0 333,000
OFLE wEAN2| AR(HE) 333,000 0 333,000
=2 122,000 0 122,000
= 211,000 0 211,000
Aud SEUnel AR(N) 1,470,466 0 1,470,466
= 915,750 0 915,750
= 554,716 0 554,716
308 RXISHHISOIR 1,470,466 0 1,470,466
= 915,750 0 915,750
= 554,716 0 554,716
PGAEREREESS] 1,470,466 0 1,470,466
OFLE wYAN2| AR(XIR) 1,470,466 0 1,470,466
= 915,750 0 915,750
= 554,716 0 554,716
HE ZCe AN AQ(NE) 39,300 0 39,300
= 6.750 0 6,750
= 32,550 0 32,550
308 RXISHHISOIR 39,300 0 39,300
= 6.750 0 6,750
= 32,550 0 32,550
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A LXelEsn
M dXel FE(MIEX/ =S)
ool XAETE HUAT2IAY (SHel: &9)
S - BB - B3 - HIRA - BaS e pJE-L HimE==l
10 S7 12 S0 & S A | 39,300 0 39,300
OFE ZEES HAXIR AMH(ZE) 39,300 0 39,300
= 6,750 0 6,750
= 32,550 0 32,550
HE ZCEY AR AIS(XIR) 175,500 0 175,500
= 135,000 0 135,000
= 40,500 0 40,500
308 XXIEHHISOIHE 175,500 0 175,500
= 135,000 0 135,000
= 40,500 0 40,500
01 AXHHBLEES 175,500 0 175,500
OFE ZFEES HYAY AMB(XR) 175,500 0 175,500
= 135,000 0 135,000
= 40,500 0 40,500
HEA EE L8l & At 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
308 AXIHHSOIA 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
01 AXHHBLEES 337,500 0 337,500
OHHMAI 9 L&l &2 Al 29 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
DE CHoI- AR FEYRE] ALY 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
308 AXIHHSOIA 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
01 AXHHBLEES 337,500 0 337,500
O1nd CHOI=AE BE2Xel MY 2F 337,500 0 337,500
= 324,000 0 324,000
= 13,500 0 13,500
2ol FPLHEL 29 70,850 0 70,850
= 54,500 0 54,500
= 16,350 0 16,350
308 AXIHHSOIA 70,850 0 70,850
= 54,500 0 54,500
= 16,350 0 16,350
01 AXIEHMEAEES 70,850 0 70,850
Ozl FHLEAx 2F 70,850 0 70,850
= 54,500 0 54,500
= 16,350 0 16,350

- 144 -




BA: LRSS
Hm: AT AE(AMEEX/S)
Se: XNHEF=CE FEHA XA (S A2
2A - FH . C2(3H) - HRAIY - BES Ofl &bt J|ZH Hnsz2
EY HE 4 ¥ 52LAR2] AY 497,063 0 497,063
= 451,875 0 451,875
< 45,188 0 45,188
308 AIXISHHSOIA 497,063 0 497,063
= 451,875 0 451,875
[= 45,188 0 45,188
01 AXSHHBAEXRS 497,063 0 497,063
OSY =4 U ¥ s|uaxie Al 29 497,063 0 497,063
= 451,875 0 451,875
[= 45,188 0 45,188
Lt ABIEY HUETIE SHHAIY(RA) 295,500 0 295,500
= 147,750 0 147,750
[ 147,750 0 147,750
308 XAIXISHHSOIA 295,500 0 295,500
= 147,750 0 147,750
[ 147,750 0 147,750
10 2|1 2ASOIHESHE A X EFALHI 295,500 0 295,500
OZY AEIEY HAEE HAHAS(EH) 295,500 0 295,500
= 147,750 0 147,750
< 147,750 0 147,750
e AEIEY FUER HAHAI(XK) 1,465,680 0 1,465,680
= 1,182,000 0 1,182,000
[ 283,680 0 283,680
308 AIXISHHSOIA 1,465,680 0 1,465,680
= 1,182,000 0 1,182,000
[= 283,680 0 283,680
01 XAIXISHHIFAEEXS2 1,465,680 0 1,465,680
O3 AEIEY HETE HAAIA(XIR) 1,465,680 0 1,465,680
= 1,182,000 0 1,182,000
[ 283,680 0 283,680
HHAAXIRIZHE =Y 1,200,000 0 1,200,000
= 450,000 0 450,000
[= 750,000 0 750,000
308 XIXISHHISOI® 1,200,000 0 1,200,000
= 450,000 0 450,000
[ 750,000 0 750,000
10 2|1 2SO A E QI EFAFIHI 1,200,000 0 1,200,000
OFHUHARRIZHE = & 2Y 1,200,000 0 1,200,000
= 450,000 0 450,000
[ 750,000 0 750,000
UTI2I A (AP - SAD|A /AL - ZEAT| AL 1,595,600 900,000 695,600
axiel & M 1,595,600 900,000 695,600
U2 WS 2HAH| 12,600 0 12,600
201 LEH2HH| 9,600 0 9,600
01 AFR22IHI 9,600 0 9,600
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SA:

M A LAY SH(MY - SAI|Y/MATE - DS

&elr J1H3WE 23 XA (2 &)

RA - ZE - S9I(3) - HIRA - BES 0l st b HlDE2
I K12t 36,062,361 23,216,061 12,846,300
= 1,148,400 80,000 1,068,400
= 34,913,961 23,136,061 11,777,900
dY 23A0|1Y SY(MY - SAIY/MHTE - DEE 28,996,512 18,120,512 10,876,000
llg3ds st XN 5,259,512 4,034,512 1,225,000
24 HIZLIAME HE XA 3,000,000 2,000,000 1,000,000
403 XX HHMSKE01H 3,000,000 2,000,000 1,000,000
01 RXISMAE2E 2 3,000,000 2,000,000 1,000,000
O24t HIZLIAHEH HE XA 3,000,000 2,000,000 1,000,000
SEY 24012 SEA(SIEETH) 525,000 300,000 225,000
308 XXISHHISOIH 525,000 300,000 225,000
10 S0 12 S0 & S A | 525,000 300,000 225,000
O22¢ 2AI|Y SHAY 525,000 300,000 225,000
| SHZHE & JIHXIR Edst 23,737,000 14,086,000 9,651,000
SAIG=4NZ2 0INEdE=Z XA 22,600,000 13,119,000 9,481,000
307 e12t0|& 22,600,000 13,119,000 9,481,000
08 OIXIEN = 22,600,000 13,119,000 9,481,000
OZZotE s & AIE&HIAs OIXEN 22,600,000 13,119,000 9,481,000
278 JIHEE JHEAE 690,000 600,000 90,000
403 XXX SAH=01& 690,000 600,000 90,000
01 RAXISMAE2E 2 690,000 600,000 90,000
Oamt2 JIg&d HEA 690,000 600,000 90,000
FHIIY MRrNEeE Bxg KA 380,000 300,000 80,000
308 XXISHHISOIH 380,000 300,000 80,000
01 AXISMBAEES 380,000 300,000 80,000
OFINIG danNEed BX23 KR 380,000 300,000 80,000
HECAES = L J|IsE(ME=R/=3) 7,018,800 5,048,500 1,970,300
= 1,148,400 80,000 1,068,400
= 5,870,400 4,968,500 901,900
A MEE TE & IS 24 1,896,300 1,964,500 268,200
= 45,900 80,000 234,100
= 1,850,400 1,884,500 234,100
N CARIE 8§ 2dst 91,800 160,000 268,200
= 45,900 80,000 234,100
L= 45,900 80,000 234,100
307 g12+o|& 91,800 160,000 268,200
= 45,900 80,000 234,100
= 45,900 80,000 234,100
02 CIZtEAIAIH 2 91,800 160,000 268,200
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S JlRI D
B MTCARS FA U IISTA(MEEX/S)

CHEl L AMALER! T 2 DlSel 2 (erl:&e)
2A - FHH - AR(ZH) - HRAKY - BES Oil &hoH J|ZH HwE2

OXY CAIEIE g3 &4dst X 91,800 160,000 68,200

= 45,900 80,000 234,100

= 45,900 80,000 £34,100

= & X2 3,446,500 3,084,000 362,500

= 265,000 0 265,000

= 3,181,500 3,084,000 97,500

X atotES DA (ZE) 362,500 0 362,500

= 265,000 0 265,000

S 97,500 0 97,500

308 KHXISHRISOIE 362,500 0 362,500

= 265,000 0 265,000

S 97,500 0 97,500

10 SJ 12 SOIUHEHE & XS A 362,500 0 362,500

Odd FEE0odI0l 23A 262,500 0 262,500

= 210,000 0 210,000

S 52,500 0 52,500

(OF=s= e 100,000 0 100,000

= 55,000 0 55,000

S 45,000 0 45,000

NA=Ed FHLR el 1,676,000 0 1,676,000

= 837,500 0 837,500

S 838,500 0 838,500

AR SIYME PEA 900,000 0 900,000

= 450,000 0 450,000

S 450,000 0 450,000

308 AXIHHSOIA 900,000 0 900,000

= 450,000 0 450,000

= 450,000 0 450,000

10 SJ 12 SOIHEHE & XS A 900,000 0 900,000

OFEEY sIUHH A=A 900,000 0 900,000

= 450,000 0 450,000

S 450,000 0 450,000

A AELEQ OLOICION DE3H KIRIAL 516,000 0 516,000

= 187,500 0 187,500

S 328,500 0 328,500

308 AXIHHSOIA 516,000 0 516,000

= 187,500 0 187,500

= 328,500 0 328,500

10 SI 12 SOIHEHE & XS A 516,000 0 516,000

OZg ABEY OOICIH &3t XA 516,000 0 516,000

= 187,500 0 187,500

S 328,500 0 328,500

AHEIHH HEHO0IH BE2IAML 260,000 0 260,000

= 200,000 0 200,000

S 60,000 0 60,000
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2A JIEXI&0

Ha: MACARRS FE U IISH(AS=X/CS)
el XGFEEH HAAT2| A (Sh9): &)
2 - ZH - H(BH) - NRAY - BES Ofl &bk J| BN HlusSZ
403 RXISHHISXH=0I & 260,000 0 260,000
= 200,000 0 200,000
= 60,000 0 60,000
01 XIXISHIEE S 260,000 0 260,000
Ooh I FAHO0ID BERIA 260,000 0 260,000
= 200,000 0 200,000
= 60,000 0 60,000
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SN ZHIHDY
Bay: XIAM BB -
C9l: B HELs Jle X

S - BB - B3 - HIRA - BaS o8y pE-T HimE==l
ZHIEH 80,854,384 57,108,477 23,745,907
= 2,566,811 1,909,251 657,560
s 4,846,000 4,846,000 0
Il 1,922,200 1,610,200 312,000
im 1,500,000 0 1,500,000
= 70,019,373 48,743,026 21,276,347
KNAZH S A - SAIIH/ Y - SAI P 41,345,792 17,857,990 23,487,802
= 565,017 25,057 539,960
s 4,846,000 4,846,000 0
imi 1,500,000 0 1,500,000
< 34,434,775 12,986,933 21,447,842
N3 MEdst J1g =4 1,454,088 1,104,088 350,000
= 150,000 0 150,000
S 1,304,088 1,104,088 200,000
== NAHEH 22 350,000 0 350,000
= 150,000 0 150,000
S 200,000 0 200,000
308 AXIHHSOIA 350,000 0 350,000
= 150,000 0 150,000
= 200,000 0 200,000
10 SI 12 SOIHEHE & XS A 350,000 0 350,000
O=s=XagdyH 29 350,000 0 350,000
= 150,000 0 150,000
S 200,000 0 200,000
AHIER 2 2SIk 268,384 266, 164 2,220
= 25,057 25,057 0
S 243,327 241,107 2,220
DHIXAIBZ0F 20|12 T4 3 2,220 0 2,220
303 E&= 2,220 0 2,220
01 Z&3 2,220 0 2,220
OXHIRABZ20F 0|2 Zals 2,220 0 2,220
FEadlAY D18t 25t 5,646,076 5,209,994 436,082
= 389,960 0 389,960
s 3,872,000 3,872,000 0
= 1,384,116 1,337,994 46,122
ANA=ES HHA HAXAASG 436,082 0 436,082
= 389,960 0 389,960
= 46,122 0 46,122
308 XXIEHHISOIE 436,082 0 436,082
= 389,960 0 389,960
= 46,122 0 46,122
01 AXHHBLELS 436,082 0 436,082
OZoiAl HSAIE FE&R JIZI0I |4 97,500 0 97,500
= 75,000 0 75,000
= 22,500 0 22,500
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A
T
(=l

chel:

EINESES I
NSZH 883 (AY - SIS/ MY - S|P
FSadlag gt &

S - BB - B3 - HIRA - BaS o8y pJE-L HimE==l
OFEEY 18101 SLYEEHE ZEAMY 135,450 0 135,450
= 126,000 0 126,000
L= 9,450 0 9,450
ONMHIAI 28 HEHE-SAHY 203,132 0 203,132
= 188,960 0 188,960
L= 14,172 0 14,172
FHXERS et A= 28,657,344 6,943,844 21,713,500
imi 1,500,000 0 1,500,000
5= 27,157,344 6,943,844 20,213,500
HS-DARE SEHEAL (SIHEETH) 21,809,000 2,000,000 19,809,000
308 XXISHHISOIHE 21,809,000 2,000,000 19,809,000
07 AXIH2RE= 21,809,000 2,000,000 19,809,000
SAZ-LARE S2IHEAS 19,809,000 2,000,000 17,809,000
ONS-2ARE S2INEAI(2017E SERRA) 2,000,000 0 2,000,000
ZANHAEZ (45 H) HZEEZ HEML (I XA) 1,754,500 0 1,754,500
i 1,500,000 0 1,500,000
S 254,500 0 254,500
308 XXISHHISOIH 1,754,500 0 1,754,500
imi 1,500,000 0 1,500,000
S 254,500 0 254,500
07 AXISH2RE= 1,754,500 0 1,754,500
OZAIRIAEZ2(45 M) HBEZ HE ALY 1,179,500 0 1,179,500
im) 925,000 0 925,000
S 254,500 0 254,500
OUSLASK] MAEZ IHEA 575,000 0 575,000
im) 575,000 0 575,000
FHRREE 28 N 2,080,850 1,930,850 150,000
308 AXIHHMSOIA 2,080,850 1,930,850 150,000
07 AXIH2RE = 2,080,850 1,930,850 150,000
OZLUHAINARAEE & BRE= 680,850 530,850 150,000
AaEe Y 2 FHIMH XA 5,052,700 4,066,700 986,000
s 974,000 974,000 0
= 4,078,700 3,092,700 986,000
2aEC FHLZ 0IM2ES KA 2,000,000 1,250,000 750,000
307 g12+o|& 2,000,000 1,250,000 750,000
08 OIXIEN = 2,000,000 1,250,000 750,000
OaatEel M= 012 2,000,000 1,250,000 750,000
1ol gext nE8s It K& 82,000 0 82,000
301 LetEL=E 82,000 0 82,000
01 Al 2EH+=0ll= 82,000 0 82,000
O12 gt nsE28 )t XId 82,000 0 82,000
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SN
X‘IiH:
L_,|-O|:

D:!I-||I‘Iil—47|,

2 - ZH - H(BH) - NRAY - BES Ofl &bk J| BN Hunsz
LERAMTH SLEHS NS 154,000 0 154,000
307 212401 154,000 0 154,000
02 QIZtEAAIE 2 154,000 0 154,000
OLetRASHl &7+ Eed 154,000 0 154,000
HYUUX B2 XA - AL/ XL X&) 19,393,774 18,845,014 548,760
= 2,001,794 1,884,194 117,600
Il 1,922,200 1,610,200 312,000
= 15,469,780 15,350,620 119,160
OILIXI XH& 2tel 4,043,154 3,494,394 548,760
= 2,001,794 1,884,194 117,600
J| 1,922,200 1,610,200 312,000
< 119,160 0 119, 160
FAS X=X 1,922,200 1,610,200 312,000
Il 1,922,200 1,610,200 312,000
403 XFXIEHISAH=01E 1,922,200 1,610,200 312,000
J| 1,922,200 1,610,200 312,000
01 AXIEMA=Ex 1,922,200 1,610,200 312,000
ONASESSaIAIY 1,922,200 1,610,200 312,000
Il 1,922,200 1,610,200 312,000
LPIAAIE QHEXIZI0] ALY 236,760 0 236,760
= 117,600 0 117,600
s 119,160 0 119,160
403 XIS H=01E 236,760 0 236,760
= 117,600 0 117,600
s 119,160 0 119,160
AXIHH K22 L 236,760 0 236,760
OLPItAAIE QM XIZ0I AFS 236,760 0 236,760
= 117,600 0 117,600
=S 119,160 0 119,160
HREs(ZHME2) (A - SAI/HHXIL IO 19,172,340 19,089,000 83,340
HEHHXS(STETVAX AT L NSLESIAH) 83,340 83,340
KNSNHZALMELSH HES 83,340 0 83,340
701 JIEtIHSEHES 83,340 0 83,340
01 JIEtBl HIEES 83,340 0 83,340
OLPIIAAIE CHEXIZ0IAIE HES 83,340 0 83,340
SHES2U(L - SAI|S/UHHXI L2000 871,285 1,245,280 A373,99
OIHIEI (ST XISRALNSLSIA) 871,285 1,245,280 A373,99
ol 871,285 1,245,280 A373,995
801 GlibIb| 871,285 1,245,280 A373,995
1 2BHiiblBl 871,285 1,245,280 A373,995
OuIbIH 871,285 1,245,280 A373,99
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M
R
(=l

chel:

Ofl &bk J| BN Hws2
=S 14,358,536 14,058,536 300,000
[ 1,250,000 1,250,000 0
= 13,108,536 12,808,536 300,000
=2 Sa)|1Y/2Y 14,314,559 14,014,559 300,000
[ 1,250,000 1,250,000 0
< 13,064,559 12,764,559 300,000
3,724,470 3,424,470 300,000
572,000 472,000 100,000
572,000 472,000 100,000
572,000 472,000 100,000
450,000 350,000 100,000
200,000 0 200,000
200,000 0 200,000
200,000 0 200,000
200,000 0 200,000
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A ANESSH
M XNASSH 24sHARIEX/ =S)

Shol: (Ol AFSIEDIY X2 (Srol: &)
S - ZE - BRI(3]) - ARAR - BAS 0 bt gL HimE==1

XS BSH B 26,641,897 26,128,297 513,600

= 1,473,260 1,068,260 405,000

o 21,087,310 21,087,310 0

< 4,081,327 3,972,727 108,600

XABEH SHHAEIZX/ S) 9,207,984 8,694,384 513,600

= 1,473,260 1,068,260 405,000

2 5,374,000 5,374,000 0

< 2,360,724 2,252,124 108,600

(Gl AFBI=DI RI 6,608,342 6,004,742 513,600

= 1,409,000 1,004,000 405,000

= 3,679,000 3,679,000 0

[ 1,520,342 1,411,742 108,600

Zg ABIEAH HERE DENE(XY) 483,600 0 483,600

= 390,000 0 390,000

< 93,600 0 93,600

308 XHXISHHISOI® 483,600 0 483,600

= 390,000 0 390,000

< 93,600 0 93,600

PG RS 483,600 0 483,600

OeI2iH| X2 483,600 0 483,600

=2 390,000 0 390,000

< 93,600 0 93,600

Zd ASIRIR HERE DENE(NE) 30,000 0 30,000

= 15,000 0 15,000

< 15,000 0 15,000

308 XHXISHHISOI® 30,000 0 30,000

= 15,000 0 15,000

= 15,000 0 15,000

10 22 SUITHSI AR S A 30,000 0 30,000

ONUIN 2 30,000 0 30,000

= 15,000 0 15,000

< 15,000 0 15,000

= MSP AL (ZEL XA/ KIS L T Al) 17,382,418 17,382,418 0

= 15,713,310 15,713,310 0

< 1,669,108 1,669, 108 0

N T BN 17,382,418 17,382,418 0

o 15,713,310 15,713,310 0

= 1,669,108 1,669, 108 0

NE TP 190,400 190,400 0

2 190,400 190,400 0

207 AP 0 24,500 24,500

z 0 24,500 24,500

01 eimga 0 24,500 24,500

OMERAIY 22 B 0 24,500 24,500

2 0 24,500 24,500
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